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CRCI: £ ouT IN |GROSS| HDCP | NET W K £ ouT IN |GROSS| HDCP | NET
*1| RE BA 39 40 79 | 11.8 67.2 26| HM@E FFx 49 47 96 16.6 79.4
*2| JKH FIE 53 46 99 | 30.8 68.2 27| KW k& 45 46 91 10.9 80.1
*3| EH REsA 49 45 94 | 239 | 70.1 280 A} B— 59 48 107 | 26.8 80.2
*4| HRE F—ER 44 43 87 | 16.8 70.2 29 Kih 14 48 46 94 13.1 80.9
*5 3k KA 43 43 86 | 15.3 70.7 %30 B EEA 46 49 95 12.9 82.1
6] AKH 42 40 82 | 10.7 71.3 31 Xa % 53 53 106 | 215 84.5
*7| fal E— 41 43 84 | 121 71.9 32| LE# {E—EB 55 48 103 | 17.2 85.8
8| E# 8A 50 49 99 | 26.8 72.2 33| W/ FA 59 51 110 | 23.7 86.3
9 X ® 37 37 74 1.2 72.8 34 AKE H 49 60 109 | 12.2 96.8
*10| X #5H 42 40 82 9.1 72.9

11|  Hh f#i— 44 42 86 | 13.1 72.9

12 E&II 5F 48 48 96 21.8 14.2 v

B R —& | 4 | 42 | 83 | 87 | 743 | |BE¢| X&E R | 3/ | 37| /4

14 ml F8 40 45 85 10.7 74.3

*15| B Bix 47 46 93 | 185 74.5

16| EH#E #8— 49 46 95 20.2 74.8

17 LM EZ 45 36 81 6 15

18] M@ BEA 47 45 92 | 16.8 75.2

19 # =it 48 42 90 | 146 | 75.4

*20 Hf @&k 45 38 83 J/ 16

21 T GE 50 43 93 16.4 16.6

22 KKk & 47 53 100 | 229 | 77.1

23 /R EER 46 48 94 | 16.6 | 77.4

24 T’ FIA 54 51 106 | 276 | 774

%25 #E ExX 45 46 91 12 79
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B i K 2 OouT IN | GROSS| HDCP NET W K -] OouT IN | GROSS| HDCP NET
*1 ARE o 39 38 11 11.2 65.8 26 Ak =k 45 46 91 16.9 14.1
w2| XA =—H} 40 39 19 13 66 27 25 BRE 45 40 85 10.4 14.6
*3 M EBE 40 41 81 14.8 66.2 28 W FESE 44 44 88 13.4 714.6
¥4 =R =B 4] 43 90 23 67/ 29 pRig ASE 4] 45 92 16.8 75.2
*5 NNty =5 42 46 88 20.5 6/.5 %30 X BB 50 49 99 23 16
6] KEK B#ES 40 43 83 15.3 6/.7 31 ®HEH #X% 50 51 101 24.3 16.7
*7 BEA B= 39 41 80 11.9 68.1 32 JBH ¥ 49 41 90 12.7 11.3
8 INGE FE 50 53 103 34.2 68.8 33 NI : 46 50 96 18.4 11.6
9 #'mh =mh 41 41 82 13.1 68.9 34 BK B 4] 49 96 17.6 18.4
*10 TG RN 42 37 19 9.9 69.1 %35 PIE =&F 49 55 104 25.4 18.6
11 =il SR 40 42 82 12.9 69.1 36 A AF 52 51 103 23.9 79.1
12 F9E ki 44 44 88 18.9 69.1 37 Sl BE— 50 4] 97 13.7 83.3
13 # IE=E 44 40 84 14.4 69.6
14 =H BAX 44 42 86 16.1 69.9
*15 =% Fn&l 43 43 86 15.6 710.4 =
16 TR —F 43 40 83 12.5 10.5 B.G aﬁ% Eﬁﬁ 39 38 17
17 HE A% 39 38 117 6.1 70.9
18 KiE = 43 40 83 11.9 111
19 =/t FlIE 43 45 88 15.7 12.3
*20 A5 & 47 47 94 21.5 12.5
21 KT HiE 43 44 87 13.9 13.1
22 TE Bl 44 48 92 18.6 13.4
23 Mg FYF 51 50 101 21.6 13.4
24 hig FiE 48 42 90 16.3 13.7
25 =H X£R 43 41 84 10.2 13.8




